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+ fibo(n) = fibo(n—1) + fibo(nh-2)
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int fibo(int n) #define MAX_SIZE 100
{ int fIMAX_SIZE + 1]

if(n<=1) return n’ int fibo(int n){
else return fibo(n-1) + fibo(n-2); int i/
} f[0]=0;
void main(){ if(n>0){

int i; f[11=1;

for(i=0; i<10; i++) for(i=2; i<=n; i++)

printf("%5d", fibo(i) ) flil=fli-11+f[i-2];
} }
[H3iZ 1 return f[n];
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int fibo(int n)
{

if(n<=1) return n;

else return fibo(n-1) + fibo(n-2);
}
void main(){

int i

for(i=0; i<10; i++)
printf("%5d", fibo(i) );

#define MAX_SIZE 100
int fIMAX_SIZE + 1]
int fibo(int n){
int i;
f[0]=0;
if(n>0){
f[1]1=1:
for(i=2; i<=n; i++)
fLi1=fli-1]+f[i-2];

} }
[HZAI return f[n];
01123581321 34 }
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t5) = f4) + £3)
f(4) = f3) + £(2)
f(3) = £(2) + £(1)
t2) = £(1) + £0)
f(1) =1
f0) = 0
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